6.

(4)

Ify= sin”! X, show that :

__X_

2
(1-x? dy dy—0

7.

8.

S-611

dx? dx

Expand (x - 1)7‘

A 1 2 3 iB
= an =
254 5 6

verify A+ B =B + A.

01 2
3 45

|
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Note :This paper is of Eighty (80) marks divided
into two (02) Sections A and B. Attempt the
questions contained in these sections accord-
ing to the detailed instructions given therein.

Section—A

Long Answer Types Questions

Note :Section ‘A’ contains Five (05) long-answer-
type questions of Fifteen (15) marks each.
Learners are required to answer any three (03)
questions only. (3x15=45)
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(2)

. Solve the following equations :

(1) X+ 2y+3z=16
3x +y+2z=13
2x +3y+z=13

(1) Sx+3y+7z=4
3x + 26y + 2z =9
7x +2y + 10z =5

If the coefficient of 5th, 6th and 7th terms in
the expansion of :

1 + x" are in A. P, then find the value of n.

ita= 35 Hanan=[f 3t 1]
then prove the following :

M (A)=A
(i) (kB)' = kB', k = constant.

(i) (A+B) =A'+B'

Find the sum of the series :

PP+32+52+72 4 . upto n terms.

. Find the inverse of the matrix :

1 z2 —1
-4 -7 4

-4 -9 5

Note

S-611

.IfaZbC,bzc ,C=

3)

Section—B

Short Answer Types Questions

:Section ‘B’ contains Eight (08) short-answer-

type questions of Seven (07) marks each.
Learners are required to answer any Five (05)

questions only. (5%7=35)

- IR (g _31) and B (—?2 —03)

then find the value of AB.

. Show that:

(B+2) +(F-2) =183

. IfA= {14}, B = {45}, C = {5,7}; find

MHAXB U MXC

(ii) (A X B) (] (A X C)

d
If y = x? cosec x, find the value of d_y
X

a ab , show that :

abc = 1.
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